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OZOAMEAZL 2SI 1,253,182
939,887
313,295
OFMAANE ZHISAX =& 132,600
66,300
66,300
OTMAHEANE OFA2F*E 7,300
3,650
3,650
OZOHQAUAIL HEol A 5,467
1,640
3,827
OFMAAIE BSZ EHI 600
300
300
OZOMAAIE EAHSRAHI 600
300
300

EUNLY EUNLY UL M H EUNL

M H

A ANLTHEANE X 250,203 217,637 32,566
80,000
12,510
157,693

M H AL

307 21201 A 250,203 217,637 32,566
80,000
12,510

157,693

M H AL

ES 250,203 217,637 32,566
Z 2ZHXE 250,203
80,000

12,510
157,693

A H A

ZOHAXAASITHEAIE K& 580,391 544,000 36,391

210,000
17,127
253,264

M A

307 glztol & 580,391 544,000 36,391
210,000
17,127
253,264

A H AL

10 B =X 2 & 580,391 544,000 36,391
OMNZUSZEM 294 N 111,800
40,000
26,400
45,400
ONEZHAARSHE 2 X 85,000
40,000
6,927

M H A

AT
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2AMd: s
M HOHA =X A
Sl FO=RAIL KR CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 38,073
OFMe=A2NLdE2 24 X& 129,107
=2 55,000
< 15,000
s 59,107
o=z 2494l XA 85,000
& 40,000
< 22,800
[ 22,200
CldzZxstsddyH 298 X 89,484
=2 35,000
< 6,000
s 48,484
OAZEMR F2HESA 294 X2 80,000
< 40,000
[ 40,000
HZ2A A 76,015 72,299 3,716
Jledul(ns=X) 76,015 72,299 3,716
HEFA A 4,200 4,200 0
203 YR =&l 4,200 4,200 0
04 RENSELRZ=LH| 4,200 4,200 0
ORN2IYSZ=AHI 350,000& 128 4,200
2 B2 A 11,395 10,859 536
201 Let24E] 11,395 10,859 536
01 At 2t 2l 10,995 10,459 536
OBt~ 7,165
O= &l 3,830
02 =224l 400 400 0
ORN2YE JI=33R23 400
04 dl 60,420 57,240 3,180
202 044l 60,420 57,240 3,180
01 = LH o4 1l 60,420 57,240 3,180
OJl=g =80l 45,600
O=W&Z0Hl 14,820
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